2018-2019 “FAEPE @0l ARZ 8 A bl

OF (5 95k, 20 5)

32+4-8

7X9-63

43-38=5

17-42=35

4 X9=36

64-24=40

90-26=64

28 +4=T1

8+8-1

35+18=53

47-19=28

24+4=6

75-66=9

20+5=4

32-13=19

54-+6=9

82-76=6

36-18=18

ZHEBHS

9+ 1=5

Hia = 9=7

70-26=44

a6=T=8

4514

17+36=53

34-14=20

49-28~-7=45

124X 2=6

% 1R 25 %"

15<5=3

90-37=53

36+37=73

04-45=9

4 X 7=28

40--5=8

70-27=43

8+12+-4=11

18+ (3X2) =3



2018-2019 “FAE)E P ARZE bl

—. . (19 9. B3 k49, KRBT 15H)

L, 24 MERPHS%G 6 MR, BASE (4) 4 mEAFASE 34, AL
aes (8 ) MK,

2, 42+6= ( 7)) , ff (W+ZRUASTL , BfEO® ( AL+ )
R

3. SR, BAlHGERERK.

72 =1 38§ 23 |+| 8
g G
136 |+[ 6 68 |-
T g g
6
m. | (7236) +6=6 | Wk, | 68 (23+48) =37 |

4‘ EOiiE_[: «_'_”‘ “_» “X”EE“+”0

12—4=8 6X 4=24 32+4=8 940l
5, HFABEABESEN ¢ ) B,
3557 48+6 TXT 56+8 366

(35+7) < (36+6) < (56+8) < (48+6) < (TXT)

6, —HERZEE, BRAGE 6. NIIERERGE S FAMEFEEE T, SRR
RIRR 4. REBEBKEE ( 7 D,

=, iE—ik, CRERBEROFSEERSE) 69)

I, FHIERS ( B ) REHERR.

i ]




2. ERFEER 24+6=4h, BEEZE ( C ).,

A, 24 B. 4 C. 6
3. T 1 P FRERK? ( C )
A B. C

4, 8 19+35=54 M1 54+6=9 HER—EMH P IHTHEHNERXZ ( B ).

A. 194356 B. (19+35) =6 C .19+54%6
5. —HANER, BLER ( C ) A AREFTHNE 8 AMPAK.
A.2 B. 4 C.6
= BRAHE. (184
36— (23-18) 72+ (3X3) 63+ (44-37)
=35-5 =72+9 =637
=30 =8 =9
64-40+-8 (14+35) +7 13+56+7
=64-5 =497 =13+8
=59 =7 =21

M. #1E. 7
1, TEMESZRFHS? EESEE “V” .

adl- S & B3 W 25 R



2, EREBFA — I HX AR BT R R E K.

B, %it. (T
THRZE4SR (1) HEFEROKRGEHER.
BE K- R C =R
4 4 A & |OQO0OQ | IE IE,IF | IES B F
ddd |G T
(1) BEHEREETERR:
e -3 LK R ] =R
A 7 5 14 13 4

(2) ERHEWEIZLERBENEES ( 6 ) Ao

(3) —#*F ( 43
75 FRRIEIRE. (24 97)

) AB5IIRIAE.

L. =EYIESH, "iRitE 4N, DIEFEES 32 L. MBS RE#HE?
32+4=8 (IK)
&: NAR 8 RABEHE

2. KIE 5 m—&, T2t —1R.

(1) E7&IKBERELLITER?

5XT7=35 (JG)
%’: Fﬁ% 35 jﬁu

LR ET

(2) EFREMET 1870, ETJIIRTFR?
18+2=9 (#)
. X7 9IMETEE.

¥4 W ESH



3. KT, #% 4 /R, R E%3 50 Tk, KEIZDTiK?

50-4X4=34 (J©) _
. RE 345 [leﬂmg_ {

4, FEMET —ERR, REEE 16 7T, 4 MHETHT 28 . —EREL—DH
THRELE?

16-28+4=9 (jE)

B —EREE—IHTH I T

5, MR L NN ‘ * = *1

-'_h:-__r n' do = I 7 —: { : g I‘,'-‘ ; \

‘: & T_-L N :, ?—: ] . - l". iy

||‘_ .'-‘.k-:—: T 80 FE#g S = __iE 28 #H T 2548,
R & AR BB A A ?

80- (25+37) =18 (#)
E: ¥ 18 REBEFH.

6. M HPRFERET .

e ];

ot FoR
(1D mEFTs &8, —ITE/LE?
(32+40) +8=9 ()
. —3EME9 H.
(2) F_FKAf12T 184, BREB A2
32+40-18=54 (4>)
E: &F 541

ZHEBHY B SH ESH



